
Year 5 Arithmetic Challenge 5

20 000 + 200 =             7.26 − 4.8 =             502 314 − 6192 =             

820 532 − 7704 =             60 × 8 =             321 ÷ 5 =             

8.6 − 5.74 =             30 000 − 3300 =             4.8 + 6.04 =             

123 ÷ 3 =                 −     =             1000 × 43.9 =             

64 × 20 =             1.48 + 8.6 =                   +     =             
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Year 5 Arithmetic Challenge 5 Answers

20 000 + 200 = 20 200 7.26 − 4.8 = 2.46 502 314 − 6192 = 496 122

820 532 − 7704 = 812 828 60 × 8 = 480 321 ÷ 5 = 64.2

8.6 − 5.74 = 2.86 30 000 − 3300 = 26 700 4.8 + 6.04 = 10.84

123 ÷ 3 = 41     −     =     or 1000 × 43.9 = 43 900

64 × 20 = 1280 1.48 + 8.6 = 10.08     +     =     or 1
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